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This question paper contains 34 questions. All questions are compulsory.

This question paper is divided into two parts — Part A and Part B.

Part A is compulsory for all candidates.

Part B has two options i.e. (1) Analysis of Financial Statements, and
(2) Computerised Accounting. Candidates must attempt only one of the given

options as per the subject opted in Part B.

Questions no. 1 to 16 and 27 to 30 carry 1 mark each.
Questions no. 17 to 20, 31 and 32 carry 3 marks each.
Questions no. 21, 22 and 33 carry 4 marks each.

Questions no. 23 to 26 and 34 carry 6 marks each.

There is no overall choice. However, an internal choice has been provided in
7 questions of one mark, 2 questions of three marks, 1 question of four marks

and 2 questions of six marks.

1)

(i1)

PART A

(Accounting for Partnership Firms and Companies)

Hina and Neena are partners in a firm. Neena withdrew ¥ 10,000
per month at the beginning of each month during the year ended
315t March, 2022. Interest on drawings was to be charged @ 6% per
annum.

Interest on Neena’s drawings for the year ended 315t March, 2022

will be :

(a) ¥ 3,900 (b) T 325
e ¥ 3,600 @ ¥ 3,300
OR

Vibha and Asha are partners in a firm. Asha withdrew ¥ 1,000 at
the end of each quarter during the year ended 315t March, 2022.
Interest on drawings will be calculated for an average period of :

() 6 months (b) 4% months

(¢) 7 % months (d) 6% months

—~ Page 3 P.T.O.



2. I R TEA TH BH H HERGR § | WA 4 1 I, 2021 H HH H
T 6,00,000 T KT {1 | TR HIg TR Toi@ &1 AT | 31 ATE, 2022 i

3T R R e 91 s <kt fe it <p1 geper o -
@) T 36,000 (b) T 18,000
© T 9,000 d) T 27,000

3. () oAfgar fafies 9 T 4,70,000 H Yg INEERET F HT oI & G
T 5,00,000 % qUT Y& 37T 1 fEA fRam | T 30,000 % I T @A
I - 1 - S - - 111
(a) TN, 919 9
(b)  YSit H= ¥, 9 9
(c) SN &=, 5|1 9&
(d) IE= ==, ST 9§
T

i) uu fafes 9 gya fafies &t £ 12,00,000 1 afwrafaat qen
T 4,00,000 HI FATRA HI T 9,00,000 h HT oI T AR HE H
Tgafd € | Jod 1 YTaE T 100 TAH & 11% FROGAT 1 10% d8 T
fortoa sees <7 o1 | fifaa fore mw koo <h gvea gl
(a) 9,000 (b) 10,000
(¢) 8,000 (d 11,000

Heleriaa Hreqi4e 1Cfd &1 96T To1 399 &1 7T a1 & YR R 397 &7 4 797
5 & I 19T :
Shicrdr, Afadr am 7Y Th B § Areigr off aur It St shES: T 6,00,000,
T 4,00,000 TAT T 2,00,000 i | G W 10% T X & N ¢ o q99Tq
AT 1 fauTem e TR & ot
e % 9T, |fen % W QT 7Y % YT | Shiadl 5 SARETd €9 9 TR &
o5 @i # =faar &1 9 G W &I g9 6 qeErq et ot 9y |
¥ 1,00,000 § 7 & B |

ISt W SIS YgH S ¥ U9 31 T, 2022 I GETH g I 9 H ey
< 3,00,000 o1 |
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2. Aman and Chaman are partners in a firm. On 1St July, 2021 Aman
advanced a loan of ¥ 6,00,000 to the firm. There is no partnership deed.
On 315* March, 2022, Aman was entitled to get the following amount as

interest on loan : 1
(a) T 36,000 (b) T 18,000
(c) Z 9,000 (d) T 27,000

3. (1) Akshita Ltd. issued fully paid shares of ¥ 5,00,000 in purchase
consideration of net assets of ¥ 4,70,000. The balance of ¥ 30,000
will be to account. 1

(a)  debited, Goodwill
(b)  debited, Capital Reserve
(c) credited, Capital Reserve

(d) credited, General Reserve

OR
(i1) Maira Ltd. took over assets of ¥ 12,00,000 and liabilities of
T 4,00,000 of Subav Ltd. for an agreed purchase consideration of
T 9,00,000. The amount was payable by issue of 11% debentures of
T 100 each at 10% discount. The number of debentures issued will

be : 1
(a) 9,000 (b) 10,000
(c) 8,000 (d) 11,000

Read the following hypothetical situation and answer questions number

4 and 5 on the basis of the given information :
Kavita, Savita and Madhu were partners in a firm with capitals of
< 6,00,000, ¥ 4,00,000 and < 2,00,000 respectively. After providing
interest on capital @ 10% p.a., the profits are divisible as follows :
Kavita %, Savita % and Madhu % Kavita personally guaranteed that
Savita’s share of profit after charging interest on capital would not be
less than ¥ 1,00,000 in any year.
The profit for the year ending 315t March, 2022 amounted to ¥ 3,00,000
before providing interest on capital.

67/1/1 ~ N~~~ Page 5 P.T.O.
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glerdar 1 AT T 91T TR <h Uit 9 kA o
(a) ¥ 40,000 () T 70,000
() T 20,000 (d T 10,000

%H o ol AT I TS T TR T THEISE B & 9v=rq argeil ¥ fowrfoa
fepa S

(a)
(b)
(c)
(d)

(1)

(i1)

(1)

(i1)

Hiadr T 60,000, FiadT T 40,000 TAT 7Y T 20,000
Hiadr T 50,000, Ffadm T 1,00,000 T 7Y T 30,000
Hiadr T 60,000, Fiadr T 90,000 TAT 7Y T 30,000
Hiadr T 60,000, Ffaar T 1,00,000 921 7Y T 20,000

Teh HFHT 4 T 10 I o 400 3130 1, 9 W T 8 Ifd 3w anfaa
fopem T o, T 2 Wfq 379 T AW ATET URT BT PIAH T HA T E
T T | 39 ST o B WO YS @Id h AW 9& § @Al i
Gl'l'@'ﬁ:

(a) ¥4,000 (b) ¥ 800
(c) T 3,200 (d ¥ 2,000
AAAT

tfead fafes 9 T 10 9% & 700 I @1 g 10% Hifirm w
frifira foeam e, = 5 gfa ow (fftem wiga) &t smeea iy qen
T 3 ufd o791 i Tom wa AfH AT TR ST PIAE T B T W H
ot | 39 37en o FOT WY B0 @I o ST 9e § Wl b A
(a) % 17,000 (b) % 1,400
(c) % 4,900 d = 2,100

Ufga fafide 3 T 100 938 &+ 2,000, 9%3€musﬁwﬁﬁq-—r T 95 9fd
OIS R fRIAT | 9% RUTIF @Td & STHT 98] H Wil shl ST

(a) ¥ 1,90,000 (b) % 1,10,000
(c) T 2,00,000 (d) ¥ 10,000
AT

frafafea o @ o981 %29 @ 22

(a) RIS W SIS Ueh YYR &, fof=em T8 |
(b) RO bl g W fifea fopem S Hepar 2 |
(c)  TRUTIALTRAT hl ae e o SR & 2 |
(d) T w3 § uiEfaa T8 fRam S aekan |
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4, Savita’s share of profit is short of the guaranteed amount by : 1
(a) T 40,000 (b) ¥ 70,000
(c) T 20,000 (d) < 10,000

5. The total profits of the firm after adjustment of guaranteed amount will
be distributed between the partners as : 1

(a) Kavita ¥ 60,000, Savita ¥ 40,000 and Madhu T 20,000
(b) Kavita ¥ 50,000, Savita ¥ 1,00,000 and Madhu ¥ 30,000
(c) Kavita ¥ 60,000, Savita ¥ 90,000 and Madhu ¥ 30,000
(d) Kavita ¥ 60,000, Savita ¥ 1,00,000 and Madhu ¥ 20,000

6. (1) A company forfeited 400 shares of ¥ 10 each, ¥ 8 per share called
up for non-payment of first call of ¥ 2 per share. On forfeiture of

these shares, ‘Share Capital’ account will be debited with : 1
(a) ¥ 4,000 (b) ¥ 800
(c) T 3,200 (d) T 2,000

OR

(i)  Xyle Ltd. forfeited 700 shares of ¥ 10 each issued at a premium of
10% for non-payment of allotment money of ¥ 5 per share
(including premium) and first and final call of ¥ 3 per share. On
forfeiture of these shares, ‘Share Forfeiture Account’ will be

credited with : 1
(a) < 7,000 (b) ¥ 1,400
(c) T 4,900 (d T 2,100
7. (1) Rohit Limited issued 2,000, 9% Debentures of ¥ 100 each at ¥ 95
per debenture. 9% Debentures account will be credited by : 1
(a) ¥ 1,90,000 (b) ¥ 1,10,000
(c) < 2,00,000 (d) ¥ 10,000
OR
(i1))  Which of the following statements is incorrect ? 1

(a) Interest on debentures is a charge and not an appropriation.
(b)  Debentures can be issued at discount.
(c) Debentureholders do not have voting rights.

(d) Debentures cannot be converted into shares.

67/1/1 ~ N~~~ Page 7 P.T.O.



8. T, YR qYT SfGHIS WG & qAT 3:2:1 % UM H A} ol fauTeH
HA 9 | 1 JAr, 2022 H AHN BH § FATHGT & T | A h
TarHgfa 6t fafy w feufa faawr emwgiv @ & 9@ 95 § T 1,20,000
AY AT @1 A7 | A Bl T URT N AT HA G IH AT BT SR
[ERIESIIE
(a)  3THA TAT YR % Yol @Al o AW 98 H G A9-fo9Te g9 ¥ |
(b) A, YR AT AT < Y @Al o AW 9§ § A Ard-faumeH

U H |
(c)  3THA QT STYR h YSNt @Al o SHT 981 § T ATH-[HSH I H |
(d) 3T qAT STYR o Y51t @Tdi o AT &1 H Ieh AIAH I H |

9. ﬁﬁlgﬁmﬁw*wwq&ﬁﬁm%ﬂwz12%3313¢mﬁw%ﬁw
fawrsH & 8 | A AT 8 T q91 SOl SeE ST SHESH,
REF{El o QAR R CAAISTl o JAMYRUT o 99=Td 38 Yoil @Id i
I T 80,000 o1 | TfYr 3K eflt 35 q@ & QUi fde™ ® 38 T 1,00,000 1
YA i o [T T80 81 T | AT hl HaTHgd T BH hl BT § IHhT

HIT AT ;
(a) < 4,000 (b) < 20,000
(c) < 16,000 (d) < 1,80,000

10. 3YHYT(A): TG Teh I IHIHN 7 |

FRU(R) : Tfd wiosy d smferd omgmer eyt & 2fdafics et e %
Tree | Teh BH 1 TfIssT &1 e 7 |

f=fafiga @ 9 92t faemeq <1 =—@ FifST
(a) AR (A) T 8, Tg SO (R) Tod 7 |

(b)  3THT (A) A 8, T RO (R) TE 7 |

(c) 3R (A) qUT SR (R) 1 981 & |

(d)  IHI (A) 9T FHROT (R) SHI Tdd & |
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10.

67/1/1

Aman, Aadhar and Avinash were partners and sharing profits in the
ratio of 3 : 2 : 1. Avinash retired from the firm on 15t July, 2022. On the
date of Avinash’s retirement, the Balance Sheet showed a debit balance
of ¥ 1,20,000 in the Profit and Loss Account. For calculating the amount
payable to Avinash, this balance will be transferred :

(a)  To the debit side of the capital accounts of Aman and Aadhar in old
profit sharing ratio.

(b) To the debit side of the capital accounts of Aman, Aadhar and
Avinash in old profit sharing ratio.

(c) To the credit side of the capital accounts of Aman and Aadhar in
new profit sharing ratio.

(d) To the credit side of the capital accounts of Aman and Aadhar in
their gaining ratio.

Nidhi, Kunal and Kabir are partners in a firm sharing profits in the ratio
of 2 : 1 : 2. Kunal retired and the balance in his capital account after
making necessary adjustments on account of reserves, revaluation of
assets and reassessment of liabilities was ¥ 80,000. Nidhi and Kabir
agreed to pay him ¥ 1,00,000 in full settlement of his claim. Kunal’s
share of goodwill of the firm, on his retirement was :

(a) ¥ 4,000 (b) T 20,000
(¢ ¥ 16,000 (@ ¥ 1,80,000

Assertion (A) : Goodwill is a intangible asset.

Reason (R):  Goodwill is the value of the reputation of a firm in respect
of profits expected in future, over and above the normal
profits.

Select the correct answer from the following :

(a)  Assertion (A) is correct, but Reason (R) is wrong.
(b)  Assertion (A) is wrong, but Reason (R) is correct.
(c)  Both Assertion (A) and Reason (R) are correct.
(d)  Both Assertion (A) and Reason (R) are wrong.

—~ Page 9 P.T.O.



12.

13.

14.

67/1/1

F AT @ Teh BH § AEIGR o GAT 7 : 1 % AId H ATH-TH T fa9eH
g | F J YAk fqHTEl & IRH H T 12,000 h Tk Hivaa Uit &1 st
foman | STTETT W 6% aTfSer @ @ =S Wi foRn SiTar @ | 99 % 31 H STE
T IS Y9G v shl TsHH=n Ifafse g .

(a) ARl W SIS Widl 4™ ¥ 1,800

%’ 1 ol @ral T 1,800
(b) AW W IS QIdl 4™ g 1,800

‘e’ <hl T WTdl T 1,800
(c) & 1 Ysit @I 9 T 1,800

TR0 T IS @Il T 1,800
(@ - fofse @ ™ T 1,800

I TS Gl T 1,800

3Tfehd St 1 98 WIT S8 areda ® SHa1 sl AWed i o fog feifea T

STdT B, ShEdTdl B

(a) frem gSh
(b)  Tifia gSh
(c)  3Mersha it
(@ g

5 fafiees 3 T 100 5 &1 w3719, 8 20% Hiftem w frifia foran w
of, T 30 Wi 37 hl JU9 AT AT T 10 Jfd T <1 AT AT T YA
% W, W R T | =Ead qod 59 W 39 o ol qH G foRam S
GohdT 2 :

(a) T 40 b) T 60

() T 20 (d T 100

&I qAT ST Th HH H HIEER & A 2: 1 AT § i &l fawse
| s B 2w % for e # R | s 3 e

9T T % T Aferar | qen % T ST & ot | e, STmT qen s1ed

ST T A1 -fauTSH 7aTd g1
(a) 3:2:4 (b) 4:3:2
(c) 2:1:1 (d) 4:2:3

-~~~ Page 10



11. ‘A’ and ‘B’ were partners in a firm sharing profits and losses in the ratio
of 7: 1. ‘A’ withdrew a fixed amount of ¥ 12,000 at the beginning of each
quarter. Interest on drawings is charged @ 6% p.a. The journal entry for

charging interest on drawings at the end of the year will be : 1
(a) Interest on drawings A/c Dr. < 1,800
To A’s Capital A/c < 1,800
(b)  Interest on drawings A/c Dr. < 1,800
To A’s Current A/c < 1,800
(c) A’s Capital A/c Dr. < 1,800
To Interest on drawings A/c < 1,800
(d)  Profit and Loss Appropriation A/c Dr. ¥ 1,800
To Interest on drawings A/c < 1,800

12. That part of the authorised capital which is actually issued to the public
for subscription is called : 1

(a)  Subscribed capital
(b)  Issued capital

(c) Authorised capital
(d)  Reserve capital

13. Zinki Limited forfeited a share of ¥ 100 issued at a premium of 20% for
non-payment of first call of ¥ 30 per share and final call of ¥ 10 per

share. The minimum price at which this share can be reissued is : 1
(a) T 40 (b) % 60
(c) T 20 (d ¥ 100

14. Akshita and Anurag are partners in a firm sharing profits in the ratio of

2 : 1. Akshat is admitted in the firm with % share in profits. Akshat

acquires % of his share from Akshita and % of his share from Anurag.

The new profit sharing ratio of Akshita, Anurag and Akshat will be : 1
(a) 3:2:4 (b) 4:3:2
(c) 2:1:1 d 4:2:3

67/1/1 ~ N~~~ Page 11 P.T.O.



15. WH o foued % awy fAfaRed # @ fpd a9l @1d o g&araia fpam smerm 2

(i)
(ii)
(ii1)
(iv)
(a)
(b)
(c)
(d)

16. ()

(i1)

67/1/1

qigy ol & fole, a9

HISIE 1 R

T g9

I

(i) 3R (iv)

(i), (i1) AAT (iv)

(i), (iii) AT (iv)

(i), (ii) T (iii)

o}, 9 AT TR Teh BH H TATHGR & TAT 4: 3 : 19k A § ATH-ZIH I
fawse & 9 | 1 TR, 2022 6 @ H Ag B O | f R gy H

fafsr =t &1 & @i S TUET T 80,000 S ME | i % AW b WWT i
gaTSIg femam Sie

(a) ATY-8TH ©Td o 9 & § T 40,000 <hl G- hieh |

(b)  Y-gIH faf—iSe @1d & 9 g § T 40,000 H G Fh |
(¢) Y-8 3=fd @id & 9™ & § T 80,000 <hl Wil shieh |
(d) Y-8 3Efd @rd o 9™ 9 § T 40,000 Hl G e |

AT

oo, fiar qon SAAr Tk ®H H GEGR 9 997 3:2:1 % I H
AT o1 TIWTSH d o | O HaTHad 81 715 3R 3HehT HET Hiar ae
AT grRI seR-ateR form | far dun stfar w1 = A fawsE

eI

(a) 2:1
(b) 7:5
(c) 1:1
(d 3:2
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15. Which of the following will be transferred to Realisation Account at the

time of dissolution of firm ?

(1) Provision for Doubtful Debts

(ii))  Partners’ Loan

(iii)  General Reserve

(iv)  Goodwill

(a) (1) and (iv)

(b) (@), (ii) and (iv)

() (D, (iii) and (iv)

(d) (1), (i1) and (iii)

16. (1) P, Q and R were partners in a firm sharing profits and losses in
the ratio of 4 : 3 : 1. P died on 15t September, 2022. On the date of
P’s death, the profits of the firm were calculated as ¥ 80,000. P’s
share of profit will be adjusted by : 1
(a)  Debiting Profit and Loss Account with ¥ 40,000.
(b)  Debiting Profit and Loss Appropriation Account by < 40,000.
(c) Debiting Profit and Loss Suspense Account with ¥ 80,000.
(d)  Debiting Profit and Loss Suspense Account with ¥ 40,000.
OR

(i1))  Pooja, Nita and Anita were partners in a firm sharing profits and
losses in the ratio of 3 : 2 : 1. Pooja retired and her share is taken
up by Nita and Anita equally. The new profit sharing ratio of Nita
and Anita will be : 1
(a) 2:1
(b) 7:5
(c) 1:1
(d 3:2

67/1/1 ~ N~ Page 13 P.T.O.



18.

19.

20.

67/1/1

g, foas e forig T B | |1EER 3 Q1 5: 3 : 2% T § TH-§T
fawsH d 9 | 1 379, 2022 %1 gAF HaTHGT &1 T3 | TR, TI1d ad
Tfa vl oTfe araret avfl TUTIISHI i ST o q9aTd fodeh qen fomig o gsi
@rdi 4 A T 3,60,000 AT T 1,40,000 T SHT WY T |

g iy foren o fop foae wa fomig <t 451t 1 3ok 1 A-faweH orgdma |
ARG R3S | 3Taaeh URET A A9l MENd i <l 3Tawdh
QoHTH= gfafseat hifsu | 3199 rf sl Tase ®9 @ 29isu |

319, W, O T ] Teh HH H TIEGR o AT 2:1:2: 1% IJIG § TH-JIH
&1 TI9TSH I 9 | I8 1 37, 2022 § TG I 4:2:3: 1% JJUd |
fawfora 6 =1 faote forn | 3@ fafa =& w6 @t 1 geamesa T 1,20,000
foRe T T JEaeRl W AT E= T 36,000 ST @ o7 |

ITI A % U sTavEs AT whfeEt ST | o wE # T &
R

() e fafies 7 T 10 & & 1,00,000 3=l 10% Hfrm w
Afiem % fou Sar <1 frifia fopan | wrgel of$r smaeT w2 off |
3,00,000 3T % fAC & YW gC qo1 sie 4 i foren fob &l
STYTIAT ! AT STIR T 3TN T ATeH HL T I1T |
e fafteg &1 geasl § IUYE oiFedl % fTT STawges  UsHmE
gfafseat Shifea |

T

(@) e fafies 3 @t fafes 1 T 60,00,000 i giEmaf=i qen
T 10,00,000 HT TIATE T 45,00,000 % T eI T o hl TgAd & |
TR 1 PTaE T 100 TP & 10% FROGAT Sl 25% Hiftem w Frifaa
e foha ST o |
vad fafies &1 geaenl # SWw el o AT Tavash TsHHE
gfafseat s |

(%) 131, 2022 I MY qAT e T HH B IS T 1,50,000 7 | TR
ot W g™ h GEE @ 10% 2 | BH % 3fEd o T 23,500 § |
ARl o 9 I & HF & YR W B bl waifa hl 7uEm ki |

AT
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18.

19.

20.

67/1/1

Suman, Vivek and Vinod were partners in a firm sharing profits and
losses in the ratio of 5 : 3 : 2. Suman retired on 15t April, 2022. After
making all adjustments relating to revaluation, goodwill and
accumulated profits, etc., the capital accounts of Vivek and Vinod showed
credit balances of ¥ 3,60,000 and T 1,40,000 respectively.

It was decided to adjust the capitals of Vivek and Vinod in their new
profit sharing ratio. Pass necessary journal entries for bringing in or
withdrawal of the necessary amounts. Show your working clearly.

Anu, Manu, Tanu and Kanu were partners in a firm sharing profits and
losses in the ratio of 2 : 1: 2 : 1. They decided to share profits and losses
in the ratio of 4 : 2 : 3 : 1 with effect from 15t April, 2022. On this date,
goodwill of the firm was valued at ¥ 1,20,000 and General Reserve
appeared in the books at ¥ 36,000.

Pass necessary journal entries for the above transactions. Show your
workings clearly.

(a) Annex Ltd. issued 1,00,000 shares of ¥ 10 each at a premium of

10% to the public for subscription. The whole amount was payable
on application. Applications were received for 3,00,000 shares and
the board decided to allot shares to all shareholders on pro-rata
basis.

Pass necessary journal entries for the above transactions in the
books of Annex Ltd.

OR
(b) Shovan Limited took over the assets of ¥ 60,00,000 and liabilities
of ¥ 10,00,000 from Swami Limited for an agreed purchase

consideration of ¥ 45,00,000. The amount was payable by issuing
10% debentures of ¥ 100 each at 25% premium.

Pass necessary journal entries for the above transactions in the
books of Shovan Limited.

(a)  On 15t April, 2022, the capital of the firm of Ashu and Madhav is
T 1,50,000. The normal rate of return on capital employed is 10%.
Average profits of the firm are ¥ 23,500. Calculate goodwill of the

firm based on three years purchase of super profits.

OR

~ Page 15 P.T.O.



21.

22,

67/1/1

(@) & qen Afh T ®H H @GR & A1 4: 1 % AT H ATH-RIH
faueM #td g | 1 31, 2021 W Il IS A T 1,20,000 AT
T 80,000 off | 1 femmer, 2021 1 38 favf o T & 1 et St
T 3,00,000 Bt ek fofw 396 g 2:1 % 31U # AMeH T
ST |
ATEH Toi@ o ITIHR, ATEIGRI i 6% TN & & Ysit W A e
T |
31 T, 2022 ! THE B It a9 # Yot R T W arel <A1 1 0T
1T |

Hew fafies it sifrpd ISt T 30,00,000 ¥ St T 10 IS & wHaT W A

fowfSa 8 | e 370,000 390 o1 fifig s & fow srees smafEa feo |

69,000 =T o ToTq 3Areled 9T Y | | AT=HTE |/ St T qA had 3,000

M W T 2 9l 3790 <kl YW T (qH JTSAT T I Sigent Il T 9ed &1

TS | 39 3790 hT 807 K foram T |

(%) O AFEE, 2013 i JATEI 111, AW I o AR HFEOT & 2l
Toraor & <ormr ISfY &0 gwifzw |

(@) st % foru @t & e ot R fifs |

e, Geh q T Teh BH H ATSIER 9 qAT 2: 2 : 13 3T H ATH-gIH
faure a9 |1 31 W, 2022 i 3T fedfa faeror 1 g & o

31 WT™, 2022 i LR, EUeh qAT Tt 1 fertd feero

N 11::»1 e 11;‘::»1
TR 50,000 | Y T Had 2,10,000
= = 1,00,000 | TR 1,90,000
EQyl 1,20,000 | ¥k 30,000
g IEER 1,70,000

gaR 1,60,000 fostma S=ifa @ 1,20,000

[HEED 1,50,000

ECiE| 1,40,000 | 450,000

7,20,000 7,20,000
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(b)  Rakshit and Malik are partners in a firm sharing profits and losses
1. On 15t April, 2021, their capitals were
¥ 1,20,000 and ¥ 80,000 respectively. On 15t December, 2021, they
decided that the total capital of the firm should be ¥ 3,00,000 to be
contributed by them in the ratio of 2 : 1.

in the ratio of 4 :

According to the partnership deed, interest on capital is allowed to

the partners @ 6% p.a.

Calculate interest on capital to be allowed for the year ending
315t March, 2022.

21. Sandesh Ltd. has an authorised capital of ¥ 30,00,000 divided into equity
shares of ¥ 10 each. The company invited applications for issuing 70,000
shares. Applications for 69,000 shares were received. All calls were made
and duly received except the first and final call of ¥ 2 per share on 3,000
shares. These shares were forfeited.

(a)  Present the ‘Share Capital’ in the Balance Sheet of the company as
per Schedule III, Part I of the Companies Act, 2013.
(b)  Also prepare ‘Notes to Accounts’ for the same.

22. Sudhir, Deepak and Naveen were partners in a firm sharing profits and
losses in the ratio of 2 : 2 : 1. On 315t March, 2022 their Balance Sheet
was as under :

Balance Sheet of Sudhir, Deepak and Naveen as at 315t March, 2022
A t A t
Liabilities T2 | Assets i
Creditors 50,000 | Land and Building 2,10,000
General Reserve 1,00,000 | Machinery 1,90,000
Loan 1,20,000 | Stock 30,000
Capitals : Investments 1,70,000
Sudhir 1,60,000 Advertisement Suspense A/c | 1,20,000
Deepak 1,50,000
Naveen 1,40,000 | 4,50,000
7,20,000 7,20,000
67/1/1 ~~~~ Page 17 P.T.O.
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30 S, 2022 W GFR I g B TS | HIBIGR H I W e doi@ |

1 TG o ;
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T 1,50,000 o | 31 HTe, 2022 %I HHH FT a¥ H A9 T 1,00,000
o |

(iii) IS W 7% 91N g | S @ S |

et & Fsareeni ! Hia- o foTu 39T Ioft @I IR i |

(%) T ofifeafen @ omli & &0 w@ AR &t Savas  UsHmE
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Hiftem w frifia fohen o o, & 8 gfa otw (fftrm =fza) &
JTeIeA TR ST YIAH | hid T, T A fo=a1 | T 4 ufq o791 i
W TS SAfeH Fren TR et w48 w8 oft | gwor fopw w v
I T 15 gid 791 qui Ygd gA: fifia s feam |
(i) e fafies 3 T 50 Ufd 71 % 1,200 30 HI, e T0 oI
o FifHa foRam T on, T 10 Sfd 379 <t | AT 1 YITaH
T T, O R T | T " 900 I hl T 45 Tid A qOI
Yea q: Fifaa s fomm i |
rera
(@) v faafieg 9 T 100 I & 30,000 3730 1 20% Hfem w fffia
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éﬁi’ﬂ:
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& W — T 30 (T 10 Hiftem wfzq)
| AT W/ — T 30
fgdtr wa sifem I W — 9w
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Sudhir died on 30t June, 2022. The partnership deed provided for the

following, on the death of a partner :

(1)

(i1)

(iii)

Goodwill of the firm was to be valued at 2% years purchase of
average profits of the previous four years which were ¥ 1,80,000.

Sudhir’s share of profit or loss till the date of death was
to be calculated on the basis of sales. Sales for the year
ended 315t March, 2022 amounted to ¥ 4,00,000 and that from
18t April, 2022 to 30tR June, 2022 amounted ¥ 1,50,000. The profit
for the year ended 315t March, 2022 was ¥ 1,00,000.

Interest on capital was to be provided @ 7% p.a.

Prepare Sudhir’s capital account to be rendered to his executors.

(a)

(b)

Pass necessary journal entries for the forfeiture and reissue of

shares in the following cases :

(1) BCG Limited forfeited 75 shares of ¥ 10 each issued at a
premium of ¥ 4 per share for non-payment of allotment
money of ¥ 8 per share (including premium). The first and
final call of ¥ 4 per share was not made. The forfeited
shares were reissued at ¥ 15 per share fully paid.

(i1) Geetika Limited forfeited 1,200 shares of T 50 each issued
at par for non-payment of final call of ¥ 10 per share. Out
of these, 900 shares were reissued at ¥ 45 per share fully
paid-up.

OR

Pushkar Limited invited applications for 30,000 shares of ¥ 100
each at 20% premium. The amount per share was payable as
under :

On application — ¥ 40 (including ¥ 10 premium)
On allotment — ¥ 30 (including ¥ 10 premium)
On first call - ¥ 30

On second and final call — Balance
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()

40,000 3191 % fTQ TG W gL qAT 35,000 37 o G ohl
JTUTeh 3o o TG TRIT | W9 SATAEH] ol ITTehd L feam T |
3TdeT W Ted AR GUfsT vl THRISH 36T W eF T § L fean
T |
e, fo@d 700 A9 o ferw frared feam o, Wrrﬁ?ra»‘rgyﬁrmw
H %A TET 3R 3Mee o G I9aTq 4 370 ol g7 o o TR |
3Tk 91¢ YW ATRFT WA T dAT YW I W aft iy urea &
T3 | fgd wa sifam aremn & Anh g |
gt Toifiee 1 geaehl O TR el & folt SAEwdeh  UsHTH
gfafsat Hifr |
I AT I TH BH H ARG 4 94T 3 : 1 % I H g I
foumem &t 9 | 31 9, 2022 i 3T fRufa foawor 1 geer o

31 WTH, 2022 i ga qUT R &1 eufa feramo

IGEALS 41,000 | 39 T HIT 60,000
T H= 80,000 | e 40,000
e I 12,000 | s 60,000
S wieh 50,000

Ia 79,000 TR 38,000

ELR 48,000 1,27,000 | 12T : Gfcwy ot &

U y@g™ 4,000 34,000
Uhs 16,000
2,60,000 2,60,000

1 319, 20223%3_@ﬁ3ﬂ‘3ﬁﬁ WA < foQ 1 3l oX a9 1 wH °

v fear

(1) I AR Sl qAT 3T HAT o BT HHIH 6 T 4,000 TG
AT |

(i) a1 @1 g T 68,000 foham T |

(iii) EIF T AR R 10% HeIg™ =1 A |

YHEATRA @1 A1 HIBIER % Yol W daR I |

AT
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(a)

Applications were received for 40,000 shares and pro-rata
allotment was made to the applicants for 35,000 shares, the
remaining applications being refused.

Excess application money was adjusted towards sums due on
allotment.

Yogesh, who applied for 700 shares, failed to pay the allotment
money and his shares were forfeited immediately after allotment.

First call was made thereafter and all the money due on first call
was received. The second and final call was not made.

Pass necessary journal entries for the above transactions in the
books of Pushkar Limited.

Yuv and Veer were partners in a firm sharing profits and losses in
the ratio of 3 : 1. Their Balance Sheet as on 315t March, 2022 was
as under :

Balance Sheet of Yuv and Veer as at 315t March, 2022

Liabilities AmOunt |\ ets Amount

Creditors 41,000 | Plant and Machinery 60,000

General Reserve 80,000 | Building 40,000

Outstanding Expenses 12,000 | Investments 60,000

Capitals : Stock 50,000
Yuv 79,000 Debtors 38,000

Veer 48,000 | 1,27,000 | Less : Provision for

Doubtful Debts 4,000 34,000

Cash 16,000

2,60,000 2,60,000

They decided to admit Yash in the firm on 15t April, 2022 for

i share in profits on the following terms :

(1) Yash will bring in proportionate capital and ¥ 4,000 as his
share of goodwill premium in cash.

(i1)) Investments were valued at ¥ 68,000.

(i11)) Plant and Machinery was to be depreciated by 10%.

Prepare Revaluation Accounts and Partners’ Capital Accounts.

OR
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(W) =, YA Qo1 §RAT Th FH H HISGR 4 991 5 : 3 : 2 % T |
Y- o1 fausH &wid 9 | 31 A, 2022 1 31 et faewor

b AT .
31 T, 2022 T ATV, AT qAT TR 1 et ferawon
N 11;:%[ e TI'ST
IEIEERNEHEN 2,20,000 | Ths 1,60,000
= w9y 1,20,000 | TER 1,80,000
- =T : Hig™ =N o
' foQ gr@g™ 20,000 1,60,000
DI 6,00,000 ib 2,00,000
ATHH  5,00,000 EENIEE] 6,00,000
a1 3,00,000 | 14,00,000 | 9o 4,00,000
Uoed 1,20,000
ATH-BTH @t 1,00,000
17,40,000 17,40,000

Ih foifdr sl Qe Sariee & S e W wsnid s

() 9 H FETHgRd W B hT BT T e T 12,00,000 T
T |

(i)  TISHM a1 |1 Afosy § i 1 fouTe 2 : 3 & 31U |
w4 |

(iii) ¥ 40,000 % Tsh ARG TSR hl i@l TohaT T |

(iv) ¥ 30,000 % CGRI ! od 0T o €4 § ufciigd o fgam s |

(v)  3IT31 k! < MR 1 SEIT0T 39 k0T @Td H L eI T |

®H ! JEIRl H ITYTH TG o [T ITEvTeh UeHmw= Jarsat hife | 6
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(b)

Reyansh, Aayushman and Sabhya were partners in a firm sharing

profits and losses in the ratio of 5 : 3 : 2. Their Balance Sheet as at

315t March, 2022 was as under :

Balance Sheet of Reyansh, Aayushman and Sabhya as at 315t March, 2022

A t A t
Liabilities 2| Assets e
Sundry Creditors 2,20,000 | Cash 1,60,000
General Reserve 1,20,000 | Debtors 1,80,000
Less : Provision for
Capitals : Doubtful Debts 20,000 1,60,000
Reyansh 6,00,000 Stock 2,00,000
Aayushman 5,00,000 Machinery 6,00,000
Sabhya 3,00,000 | 14,00,000
Building 4,00,000
Patents 1,20,000
Profit and Loss A/c 1,00,000
17,40,000 17,40,000

67/1/1

Reyansh retired on the above date and it was agreed that :

(1) Goodwill of the firm on Reyansh’s retirement was valued at

T 12,00,000.

(ii)  Aayushman and Sabhya will share future profits in the ratio

of 2 : 3.

(111) An unrecorded creditor of ¥ 40,000 will be taken into

account.

(iv)  Debtors of T 30,000 will be written off as bad debts.

(v)  Amount payable to Reyansh was to be transferred to his

loan amount.

Pass necessary journal entries for the above transactions in the

books of the firm.
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25. Aadish and Shreyansh were partners in a firm sharing profits and losses
in the ratio of 3 : 2. On 315t March, 2022 their Balance Sheet was as

follows :

Balance Sheet of Aadish and Shreyansh as at 315t March, 2022

A t A t
Liabilities m;un Assets m;un
Creditors 90,000 | Cash at Bank 20,000
Mrs. Aadish’s Loan 30,000 | Stock 24,000
Shreyansh‘s Loan 30,000 | Investments 30,000
General Reserve 45,000 | Debtors 20,000
. Less : Provision for
Capitals :
Doubtful Debts, 2,000 18,000
Aadish 1,00,000 Plant 1,00,000
Shreyansh ~ 97,000 | 1,97,000 | Advertisement Suspense account | 2,00,000
3,92,000 3,92,000

The firm was dissolved on 315t March, 2022 on the following terms :

(1) Debtors realised ¥ 17,000 and plant realised 10% more than the

book value.

(i1)  Aadish promised to pay Mrs. Aadish’s loan and took away stock at

< 20,000.

(iii) Shreyansh took away half of the investments at a discount of 10%.

Remaining investments realised ¥ 4,500.

(iv)  Creditors were paid off at a discount of 10%.

(v)  Expenses of realisation amounted to ¥ 7,000.

Prepare Realisation Account.

67/1/1 ~~~~
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27. () fTmafafea @ & sH-o1 wefie a8 2
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(b) TETEH ¥ I i A = JAR(THh Wik — G I + TIH =
— 3ifaw i
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i)  Ushg Yarg foawom
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(iii) @i % A1eH
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(b) (@) I (i)
(c) (i)
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26. Pass necessary journal entries for the following transactions relating to

the issue of debentures :
(a) Gagan Limited issued ¥ 10,00,000, 9% Debentures of ¥ 100 each
at a premium of 5%, redeemable at par after four years.
(b) KS Limited issued ¥ 10,00,000, 10% Debentures of ¥ 100 each at
par, redeemable at 10% premium after four years.
(c) QR Limited issued T 10,00,000, 9% Debentures of ¥ 100 each at a
discount of 10%, redeemable at a premium of 5% after five years.
PART B
OPTION -1
(Analysis of Financial Statements)
27. (1) Which of the following equations is correct : 1
(a) Cost of Revenue from Operations = Revenue from
Operations + Gross Profit
(b)  Cost of Revenue from Operations = Opening Inventory — Net
Purchases + Direct Expenses — Closing Inventory
(c) Cost of Revenue from Operations = Opening Inventory +
Closing Inventory
(d)  Cost of Revenue from Operations = Revenue from Operations
— Gross Profit
OR
(i1))  Which of the following is a tool of Analysis of Financial
Statements : 1
(1) Cash Flow Statement
(ii))  Statement of Profit and Loss
(iii)  Notes to Accounts
(iv) Balance Sheet
Choose the correct option :
(a) ()
(b) (1) and (i1)
() (1)
(d) (), (i) and (iv)
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o 0

LN

(a)
(c)

(1)

(i1)

Rad g=1 9 ‘@i =iy’ &
1] INEFI T 20,00,000
-] ittt ¥ 40,00,000
AelepTel 3UR Z 25,00,000
TaTiHcd 31U 25%
Z 10,00,000 (b) ¥ 14,00,000
T 24,00,000 (@ ¥ 15,00,000
T foefi™ ST g0 A fohem T e ke SaTg fateT ST T
fafafaa # 9 form nfafafe & sr=aia s
(a) ST Tty
(b) Traw wfafafy
(¢c) Torcfim nifafafer
(d) g (b) qT (c)
T
Teh S ITW g e | ed =41’ Ushs T8 foakor s91d 99
fafafaa # 9 form wfafafe & st=ariq s
(a) Toow nfafafy
(b) Toxita wfafatea

(c) UATAd lll?liéli‘élf
(d)  gFI (b) AT (c)

Uehg YaTg ot s91d gy fafafigd # @ 198 a9e & foxfie afafafer
o 3T=Id eI SITa

(1)
(i1)
(iii)

(iv)

gudr 790 1 et

el ¥ Tt Uehe

ROTTSAT T INEA

MR ¢ o fa%g YA R T Tehs

& fasheq &1 ==[ hifsu .

(a)
(b)
(c)
(d)

(i)

(1) 991 (i1)

(1) 99T (i1i)

(1), (i) 9AT (iv)
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From the following information, the ‘Proprietor’s funds’ are : 1
Current Assets < 20,00,000
Non-Current Assets < 40,00,000
Long Term Borrowings < 25,00,000
Proprietary Ratio 25%

(a) ¥ 10,00,000 (b) T 14,00,000

(c) T 24,00,000 (d) < 15,00,000

(i) ‘Dividend paid’ by a financial enterprise will come under which
kind of activity from the following while preparing cash flow
statement : 1

(a)  Operating Activity
(b)  Investing Activity
(c) Financing Activity
(d)  Both (b) and (c)

OR
(ii)  ‘Interest received on investments’ will come under which type of
activity from the following, while preparing cash flow statement of
a non-financial enterprise : 1

(a) Investing Activity
(b)  Financing Activity
(c) Operating Activity
(d)  Both (b) and (c)

Which of the following transactions are shown under financing activities
while preparing cash flow statement : 1

(1) Issue of Equity Shares

(ii))  Cash Received from Debtors

(iii) Redemption of Debentures

(iv) Cash Paid Against Trade Payables
Choose the correct option :

(a) (@)

(b) (i) and (ii)

(¢) (i) and (iii)

(d) (@), (i) and (iv)
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ffAREd THGHT 8 I8 ST S, BT AT $9H IS qNaaq =gl sl : 4
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Classify the following items under major heads and sub-heads (if any) in
the Balance Sheet of a company as per Schedule III, Part I of the
Companies Act, 2013 : 3

(a) Licenses and Franchise
(b)  Loans Repayable on Demand

(¢) Accrued Income

‘It is a technique which involves regrouping of data by application of

arithmetical relationships.” Identify the technique and state its two

advantages. 3
(i) Calculate Gross Profit Ratio from the following information : 4
Inventory Turnover Ratio : 6 times
Average Inventory : ¥ 4,00,000

Goods are sold at a profit of 25% on cost

OR

(ii) The Current Ratio of a company is 2 : 1. State giving reasons,
which of the following transactions would improve, reduce or not

change the ratio : 4
(a)  Purchased goods on credit ¥ 40,000

(b)  Sale of furniture of ¥ 8,000 at a loss of T 2,000

(c) Cash received from trade receivables ¥ 15,000

(d)  Issued equity shares ¥ 6,00,000
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At
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3. < ¢Fan
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Read the following hypothetical text and answer the given questions on

the basis of the same.

In 2011, two young Indian entrepreneurs, Vaishali Bhatia and Vivek
Bhatia decided to start an online auto portal. At that time, there were no
major players in the market and they saw an opportunity to fill the gap.
They used a user-friendly website and mobile app which made it easy for
users to research and buy cars. It was converted into a company ‘Car

Easy Ltd.” in 2018.

From the following Balance Sheet of the company as on 315t March, 2022,
calculate ‘Cash Flows From Operating Activities’.

Balance Sheet of ‘Car Easy Ltd’ as at 315t March, 2022

Particulars Note | 31.3.2022 | 31.3.2021
No. T T
I - Equity and Liabilities :
1. Shareholders’ Funds
(a) Share Capital 9,00,000 3,00,000
(b) Reserves and Surplus 1 75,000 3,60,000
2. Non-Current Liabilities
Long-term Borrowings 2 2,40,000 1,80,000
3. Current Liabilities
(a) Trade Payables 18,000 60,000
(b) Short-term Provisions 3 2,04,000 2,10,000
14,37,000 | 11,10,000
II - Assets :
1. Non-Current Assets
Fixed Assets 4 10,08,000 5,76,000
2. Current Assets
(a) Inventories 3,54,000 3,87,000
(b) Cash and Cash
Equivalents 75,000 1,47,000
14,37,000 | 11,10,000

a2 2o 2o 4
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Qrdi o A1ed :
Are 31.3.2022 | 31.3.2021
g. o T T
1 | 9= ug Iniee
AR AT ATY-gIH farawor &1 3w 75,000 3,60,000
75,000 3,60,000
9 | delerTel 3T
10% 09 2,40,000 1,80,000
2,40,000 1,80,000
3 | TR JEE™
EZ@ICRIE] 2,04,000 2,10,000
2,04,000 2,10,000
4 | Tl gfetaat
ENEE 11,52,000 6,45,000
gfad qoagrd (1,44,000) (69,000)
T 10,08,000 5,76,000
SAIaR® Gl :

1) 10% ot 1 e 81 |, 2021 i foham T |

(i) 99 % RME T 80,000 T T YA foha T |
UT &
fareew - II
(erfirerfers eraeRa)

DN ON ON

27. (1)  hifefthhsd hl TETIRdl aidl B

NN N

(a) I igH i 3 @ forw |

(b)  @ral, Sfdeei, 31fe 1 Fefera W = fore |

(¢) ATl ol MiUd W (TARHSM) & U |

(d)  AThel o JEH Jishav = fou, 3fea ferie W & fou |

AYAT
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Notes to Accounts :

Note . 31.3.2022 | 31.3.2021
No. Particulars > >
1 Reserve and Surplus
Surplus i.e. Balance in Statement of
Profit and Loss 75,000 3,60,000
75,000 3,60,000
2 Long-term Borrowings
10% Debentures 2,40,000 1,80,000
2,40,000 1,80,000
3 Short-term Provisions
Provision for Tax 2,04,000 2,10,000
2,04,000 2,10,000
4 Fixed Assets
Machinery 11,52,000 6,45,000
Accumulated Depreciation (1,44,000) (69,000)
Total 10,08,000 5,76,000

Additional Information :

(1)
(i)

(1)

PART B
OPTION - 11

10% Debentures were issued on 315t March, 2021.
Tax of ¥ 80,000 was paid during the year.

(Computerised Accounting)

The need of codification is for :
(a)
(b)  To secure accounts, reports, etc.
(c) The encryption of data.

(d)

OR
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The generation of mnemonic codes.

Easy to process data, keeping proper records.
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(i) & W@ el i HET 9§ HH BIdl 8 A1 IR &HAT ogd
AT Bl B, 3 T & foiw fafeafad § @ +19-91 Aiteda o
39Y<h BT B
(a) Tofzme
(b) I o FIAR (AS)

(© gl fafere wd eag
(d)  qmH

28. U JHUIT A(ARE 1UGT A 1 INUH gl &
(a) Y9/ IAT o
(b) T Hed
(c) %Y qod
d &S ge

29. 9 It @Al @ wfad ATHsT & Th a7 H IHANE fman Iar g, df 98
FHEATIT R
(a)  ATTdeh THT TShHUT
(b)  EHE JUshHU
(c)  3ATeher defiemm
(d)  TERHY qAT G- IR

30. (i) TG qAT A h TR H AT T B b (1T @R YA 390 I
3T Il € ST 83T BIal &, 1 W 7 :
(a) ke T sh I
(b) T TAGTRA I9aH
() WA 39aH
(d)  AfdH @ 39

AT

(i)  $Ye 3Afehgl <l fopell 31T AThel & T HL T UlshaT FHEard! 2
(a)  3Tiehgl JefRTTr

(b)  3leher Ul
(c) T AThe
(d) YR 3Ffhe
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(i1))  Which of the following software packages is suitable for an
organisation where the volume of accounting transactions is very
small and adaptability is very high : 1

(a)  Specific
(b)  Tailored
(c) Specific and tailored both
(d)  Generic

28. The outcome of an arithmetic expression or function is called : 1
(a)  Derived Value
(b)  Basic Value
(c) Vertical Value
(d)  Horizontal Value

29. When the accumulated data from various sources is processed in one
shot, it is called : 1

(a)  Real-time processing
(b)  Batch processing
(c) Data validation

(d)  Processing and Revalidation

30. (1) The name of accounting information sub-system which is linked
with other sub-systems for obtaining information about cost and
expenses is : 1

(a) Cash and Bank sub-system
(b)  Expense Accounting sub-system
(c) Costing sub-system

(d)  Final Accounts sub-system

OR

(i1))  The process of comparing input data with some unknown data is
called : 1

(a) Data validation
(b)  Data entry
(c) Information data

(d)  Storage data
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34.
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ST VI BrHAT Caee Wl @l qgadl, Al -t L The Bt B ? ST
&l T & TN hl IgE hIT |

o T, ‘M Y IR & IREl 9T IUANThd] YRHTNG 13w’ Ieal i
TUTET |

(%) ‘SATehel TEUU R & ? Th [QU Y 3iehg i FEMUT HH 5 € o
JUH T JANT FoRaT ST & 2 FHEATS |

AAAT
(@) @ ARSI o TS ST hi F ST, |

T a9 & TAE qoF’ 1 FA1 7 7 ? $HhI MWET H GERIAl B arel o
HIH ! HHATST |
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Which error occurs when Excel does not recognise ‘text’ in the formula ?

State the steps to correct it.

Explain the terms ‘Memo Voucher’, ‘Post-dated Voucher’ and ‘User-defined
Voucher’.

(a) What is ‘data formatting’ ? What tools are used to format a given

data ? Explain.
OR

(b)  List eight uses of accounting software.

What is meant by ‘Present Value’ of an investment ? Explain the
financial function which helps in its calculation.
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